oy oL oo g2 a1
B R e VR A SR

—~ BB : (’@%EZ%

(

(

(
(

T BEEE(EE2

(

3£ 1043)

) 1" g S Z»m3x»’-£1r'§=”
LA 3 A4 g g
R A0S UL

)2 & AR o APARENS G ¥R Ap
T iF o

) 3.8 drt L FAeT LiiE F o 4o
3R PTG F o R
T oL i PR R PE R o

)4.6790=695 9 %

3
) 5.1.25 +5= 1.25+0.375=1.625
3£ 10 43)

Y1L4oB o 2R AL I T2
VAN

O+ % 5027 L > o4&

@ = %5504 L= =0

@ = %5981 L= o n

@+ £ 6295 T = 24
Y24 E 8 SR FIRFTB/EP A 2

T A2 RKY REd- R

R
£ 5o ?

2\"' —\N
@354 2 @354 2

4\r' g, r
@354 <~ @454‘ <

)3. 7 BaugFE_60 22 /pF e

Beg F AT B 15 G0
Mg 15 4Bt T B H
BN sise B g T
a9
D45 ~ 48 @40 » 4
@35 ~ 48 @30 4 45

J10EER S - B> &

(

(

(2)45 1

LT RIE - B

‘&‘ﬁ;:%f AF‘ “Hp ¢ ’I‘ﬁ H%“J's

—‘gn;rn%. w7

)4 r%ﬁuﬁﬂk‘:ﬂ.—}\m 19’*-,1&25
A hcc e NS L
FIe s > 1 6T s

PAREEO6 22 5 B S E Y

brendpig g5 0 22 pE Y
®135 =2/ @16 =~ 2 /p*
@185 =~ 2/ (@20 = 2 /p*

) 5.8.964+5.55—1.55+1.04= 9

11094 (@ 1505 (® 1454

@14

= BEEEMEE: 3E2159)
L% & - I HERF

”fr”’ Y
3ART Fehg - B2 ( )&
(34)

(DB 1 > 88 > 7= B & foif ¢ h

&‘#Biﬁ‘?( ) (34)
B frdf &
) (44)

5?}’[3%_&
f#ﬁf—é,@. ‘?(

= By o
A D

(1)feo BCGF = 4p 2% chg 5 oRit ?
( ) (44)
(2)frm BCGF = 4p T {7 e 3 wRat 9

(3)fe



g ﬁ%ﬁ%ﬁ PB4 24 97)

3 7 15 31
(1) T\ +4+8+16+32m15’ °

(2) £27 6 Ao 52l -

10

10

(= : 24)

AN
R

(5) Fi# 1.2 2 ¢ $xphig

(6)2 i 1500 2 ¢ % 3iprid 5 > 22 9

H FERIRE : &Sy $£3550)

L 4@l 0 Rd 5T A )k AL A

itz an?

147 = 2n)

229

2.7 M hEi a HAS ST a0

15

n Y (H o)
10
1 B .
3T ALY 27 A TRk s § 0

1 . 7
1327 > Wpigh? 3 29927 » 4
MR EF BT R

F5 8- P YHER 465/»\%@’>'i B
- TR AN 4 IR

vegi 59

A - IR SR S IA: 2= SR P 2 2

FEFEES B/ A BARREREEE

. ,3,\53519 5 /\;]:Bﬁ_p_.}g‘,é}

v

o 9
e
;3»:

P B g F A4 8 pEs v B g

£40 22 /pF> T v d B g dde
Ak o B s 12 A ks
fg 7B Byt B pFEe B
'F"J‘zig_} z B ?

: iz‘%%ﬁ:«é’rﬁ;@* — g 15 9 /pE

e ¢ ORI AT 0 AR piE 210
},9;/53 3/ PFS > PREEEiT T B
27



